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1. (10 2] #H f(x) =ax®+b+c, FHRL 1) RBEE—BM [x1,%,] HIRHE L
HRR—EFNEMAM—REEIRE 7 ‘

2. [10 431 E—Effﬁfﬁ@i‘fzﬁﬂ‘ﬁ ERAERENESHR y=2 8 x=y, ¥
FEUT 89 0 MB35 Bt = e B Sy R

0,0 0 , o 0 0
(a) $EH / / / dy dzdx (o) B / / / dy dx dz
o Jo Jo o Jo Jo

3. [10 3] B HBEHNWEETRBEETY, HHEWHLEMNEHESS8E
(eigenvalue) 2 EH |
5-;4 0 |
4. [10 53] UM A = | 1 2 0|, 3 A% = oA + 1A+ col, T JER7AEN (identity

1.2 2
matrix), co,cy, ¢y ERIFEIER, WEHBHE ¢, i=0,1,2 Z/E.

5. [15 5] BH—ZAMMTE, 3HNTHEEEES H RN = SR EN,
=K [ 6 d e dfd %‘%?’E?:ﬁaﬁfrﬁﬁﬁ%ﬂ
aae_.ﬁa%mﬁ~/[j/[jrd r+/D/Dr r, REZALERR 2
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6. (1551 % U ——f(x ¥)s ﬁ%ﬂﬁ%%'ﬁﬁ@ﬁﬂﬂ% x BB, % y(x) T x=x0

BRI E, g@ﬁﬁ”ﬁ?b&%ﬁkﬁ? NE= v
Y(Xn+1). ~ Y(xn) + Ci(X, Y) h 4 C2(xa Y) h? +

BB b= ~x, B8 fy) =x+27+1, Bl Ci(x,y) B Colx,y) RE%S
Ak 2

7. 115 51 BHW u(xy) ERALTZAME E, 1= A =
REERARR 1, 2, 9, HURBESARNNE—8 (s0) TUEESTE
BRI B RTBRERL & 1R, B u(s,t) = cuha(s, ) + caha(s, ©) + coh(s, )
S 845, ), Ao(5, ), Aa(s, ) A ELEROISCRARIEMIT. (Linearly independent) .

Y 3
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8.> [15 431 5% A B nxn E'Jgﬁiﬂﬁiﬂi@ R R(x) (Rayleigh quotlent) )

E#F R(x) = ﬁ Ve R x40, F A MY o B AEEAND IR
Az Ay > 3 Ay, FEEEHH Ay > R(X) > )\,.1



